sajzzoy / syuauodwo? uonang

/ sbumii / saqny

3506

Regulators

Elbow / Unions
Structure Diagram (Elbow: RGCP)
Elbow
R G c P Regulating Knob (Polyacetal)
Bonnet (Glass-filled Polyacetal) Regulating Nut (Carbon Steel, Zinc Electroplating)
Resin Body Regulating Spring Piano Wire
(Glass Fiber Filed PBT Polybutylene Terephthalate) Piston
Regulaing Screw Piatng) (Polyacetal or Glass-filled Polyacetal)
Liner (Brass, Electroless Nickel Plating) Tube End
Valve Body (Polyaceta) Lock Pawl (Stainless Steel)
Release Ring (Polyacetal)
@ 0-Ring (Hydrogenated Nitrile Rubber) Tube
0-Ring (Nitrile Rubber)
Valve Body Spring (Stainless Steel)
Metal Body
(Brass, Electroless Nickel Plating)
- Pipe-threaded Tapered Screw: Sealock
Metric Screw: With Gasket
—-— (Stainless Steel and Nitrile Rubber)
Graphic Symbol
1 ﬁ 2
1”\‘ Metric Thread Type
Part Number ) B L Opposite o
Type Tube o,g, (mm) | Nominal R A Max Min Max Min L, Ly P, P, H E1 E2 Slﬁie K @
4 M5 M5 x 0.8 3 70 67.4 67 64.4 24.2 8.5 1 207 6
1 R1/8 8 71.5 68.9 67.5 64.9 24.7 9 15 15 i 85 14 5 2%
M5 M5 x 0.8 3 70 67.4 67 64.4 242 8.5 : 16 | 214 ’ 6
RGCP 6 1 R1/8 8 71.5 68.9 67.5 64.9 24.7 9 ) i 5
2 R1/4 1 78.2 75.6 722 69.6 29 1 19 17 29.8 | 10.5 17 6 46
8 1 R1/8 8 71.5 68.9 67.5 64.9 24.7 9 15.5 15 181 27.7 8.5 14 5 29
2 R1/4 11 78.2 75.6 72.2 69.6 29 11 19 ) 29.7 | 105 17 6 46
Unions RGUJP
» Arrow View V
FS
‘ _F_ .
_ I
| T r:f ‘ i._;
Smmce R
i [
= IN— 0UT =
i
Y4
Part Number B Mass
= = D, = = L Lo |L | P |P|{Ps | C |C|E |E|F|F |F|F|F|F|F| Tt T X|X|Y|Y ©
ype 3 lax in
4 4 11 21.6 9.8 7.8 19
— 11 —216 —98 — 78—
6 4 61.6 59 13 |188| 1 |11.5]11.5] 15 16 2 15 | 30 | 42 | 17 [10.3|206| 9 (245 15 1.8 o 9.8 g 20
RGUJP 6 T 116 22 T 11.8 7| 9.8
6 17 28.7 32
8 3 65.7 | 63.1 | 15 (225 15.5(15.5| 19 |18.1 181 28.6 286 19.8(396| 4 |21.5(11.7|23.4| 13 |284| 19 3
Part Number Part Number |- | Nominal - D, Features
/| Example RGCP4 _ M5 * As with a relief mechanism, the pressure will be reduced and

¥ MiSUMi

flow out from the fitting side when the primary pressure is set
on the screw side.

Depressurized

Not depressurized

There’s more on the web: misumiusa.com

Regulators with Gauge
Elbow

Elbow with Gauge RGCMP
Arrow View V
015
|
\ \
B= |
5 : L o= ‘
“ \ g <
5 1 B
1 _
Il R 5‘ 3 %
- —J| <’7
I, =
§ - s
A n llll Metric Thread Type
‘_E'ZLE P2
IEIEIU th
Part Number B L
. Opposite Side Mass
e Tube o,g. (mm) | Nominal R A Max Min Max Min L2 Ls Ls P1 P2 (H E1 E2 Es H K )
s M5 | M5x0.8 3 70 67.4 67 64.4 | 487 | 242 | 85 1 | 263 6
1 R1/8 8 7.5 68.9 67.5 64.9 492 | 247 9 6 | ’ a5 | e o 5 .
M5 | M5x0.8 3 70 67.4 67 64.4 | 487 | 242 | 85 ’ 16 | 267 ’ ’ 6
RGCMP 6 1 R1/8 8 7.5 68.9 67.5 64.9 492 | 247 9 ’ ’ 5
2 R1/4 11 78.2 75.6 72.2 696 | 563 | 29 | 11 19 17 | 30 | 105 | 17.7 17 6 49
8 1 R1/8 8 715 68.9 67.5 64.9 52 [ 247 | 9 | 155 | 15 184 284 | 85 | 16.2 14 5 31
2 R1/4 11 78.2 75.6 72.2 696 | 563 | 29 | 1 19 "1 299 [ 105 | 17.7 17 6 49
Part Number ‘ Part Number |- | Nominal ‘ e .
A Example RGCMP4 - M5 Speclflcatlons Regulator with
- . ) Pressure Gauge
Applicable Fluid Air Graphic Symbol
Precautions fOI’ Use Operating Temp. Range 0~ 60°C
Operating Pressure Range 0~1MPa
Do not use the regulator in such a way that the pressure exceeds the preset level due to e re— DO
large pressure fluctuations on the secondary side. u 9 1~0.60Fa ? =1
) ) ) ' L ) Indicated P R ~0.8MP: : !
This product is not designed as a relief valve, and using it as one may cause equipment indictod Brespura Range) 0a0.5MEg
Gauge Accuracy +5% (Full Scale *)

damage or malfunction.

If using it in this way, please install additional safety mechanisms.
changed from 0 to Max. value of 0.8MPa.

Precautions for Use

1.Set the pressure by turning the regulating knob in the upward direction (clockwise).
The pressure cannot be set accurately if the regulating knob is turned in the downward
direction (counterclockwise).

2.Do not turn the regulating knob counterclockwise from a fully open position, or too far
clockwise from a fully open position.
Doing so may cause damage to the regulating knob or the regulator/valve itself. It can also
increase the torque on the regulating screw and regulating knob.

3.The regulating knob releases when pulled up and locks when pushed down. Always lock
the knob after adjusting the pressure.
Failure to lock the regulating knob means the knob may turn, causing the pressure to
change.

4 When you press down the regulating knob, it can sometimes stop partway between
the locked and unlocked positions depending on how far round it is rotated. When this
happens, the knob is not completely locked. Please ensure that the regulating knob is fully
pushed down to the locked position.

5.Trying to force the regulating knob to turn while it is in the locked position may cause
damage to the locking mechanism.

6.For models with a gauge, the gauge can be oriented in any direction. Applying excessive
force to the gauge cap can result in damage to the gauge and cause issues with gauge
readings. Please hold the gauge close to the base when turning it.

7.The pressure gauge is accurate to +5% (FS). If greater accuracy is required, please check
the pressure using a separate pressure gauge and adjust accordingly.

8.When air is released from the secondary side, the air flow may cause resonance. Avoid
releasing air on the secondary side for prolonged periods of time, as this poses a risk of
internal damage or other issues.

Check out misumiusa.com for the most current pricing and lead time.

*Displayed position differences when the displayed pressure has suddenly

Tubes / Fittings /
Suction Components / Nozzles

3507



